Practice Questions (Set 1) for University of Findlay Placement Test A (Algebra Skills)

This is only a sampling of the types of questions that a student may see on the placement test.

Question 1: (1 point)
. . g4 2
Remove parentheses and simplify the expression (my ) .

{a) 22,6
(b) 26
(c)x yﬂ
(d)2 23
(€) zy”

Question 2: (1 point)
Remove parentheses and simplify the expression /3 (/3 + 2.
(3)3+ 2,3
(b) 11
fc) 9+ 2./3
()5

{e) /15

Question 3: (1 point)

- . x=3 7 _ 5
Solve the equation g i
(a) x = 22
bz =15
(c)x = 16
(dye = —6
{e]:r—z—

b

GQuestion 4: (1 point)

Solve the equation 22 +2r=13

fa)x=—31
bz =1
)z = 3—m2 x
(dyz=13

gz = —3 —1



Cuestion 5: (1 point)

Remove parentheses and simplify the expression (2 22 ygj (—3 :ryz) .

fa) —6 zy®
{b) —6 xy
le) — =y

(d) —6 z3y®
{e) _:L.Hyﬂ

Question 6: (1 point)

Find the z-intercept of the graphof 2 2 + 3 y + 12 = 0.

fajy=4
bz = —6
c)y=—4
(d){—6,—4)
elx =6

Question 7: (1 point)

2
_— . = —4 6
Remove parentheses and simplify the expression ( 7 ) ( T Ei) .

r+2
T

(a)
2

(b) =5

(c) 2

22 —4

3 x2
224
22z

(d)

(e)

Question 8: (1 point)

L3
Simplify the expression y_g .
zy+3
(a)
yz—g ¥
ﬂf‘y—
b
o)
© r+3
C
y2+3 y



Cuestion 9: (1 point)

If 2 = 3 and y = — 5, then find the value of the expression xy — ETy
{a) —15
{b) —25
7
(c) 3
(d) -5
(e) 5

Question 10: (1 point)

Solve the equation b y — 2 =2z + 3 fory.

aly=2=

2 2
bly= £z ++
cly=2z+1
dy= 2z +1
feyy=1

Question 11: {1 point)

Find the slope and the y-intercept of theline3 z — 5 y— 9 = 0.

faAm=2Lb=3
bym = —3,b=4
c)m=3b=—-14
[dm = 3

5
3 ]
(e} m = E’b_ —5

Guestion 12: (1 point)

In a calculus class, 15 of the students play soccer. Find the total number of students in the dass if 3 out of every & play soccer.

(a) 25
(b9
(05
() 40
(e) 21



Question 13: (1 point)

In the figure below, the large rectangle has dimensions 6 inches by 9 inches. The squares on each comer are 2 inches by 2 inches. Find
the area in square inches of the shaded region.

(a) 38
(b) 24
(c) 10
(d) 39
(e) 50

Question 14: (1 point)
Express 1,-"'51] m‘iylﬂ in simplest radical fom.

(@) 522248
(b) 25 2240
(c) 8 x2y®
(d)g 22y8
(e) 5,/2x2 "



